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Review Worksheet

Solutions: Concentration and Precipitation Reactions

1. Calculate the molarity of the following aqueous solutions.
a. 3.55 mol MgClz in 2.5 L of solution
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b. 0.035 mol NaOH in 25.0 mL of solution
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c. 145 g of CaClz in 235.0 mL of solution
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2. How many grams of iron (iII?) sulfa‘re%r%%e‘&‘uured to prepare each of the

following:
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b. 25.0 mL of 0.15M iron (III) sulfate
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3. How would you prepare 500. g of an aqueous solution that is 4.5% NaOH
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4. What is the mass percent of solute in each of the following solutions?
a. 145 g of KBr in 875 g of water —— e

Lot U2l saE ST e TP KAr |
[‘{'5‘3 Ky + ?750“10 A ‘

b. 15.0 mL of ethanol (d = 0.789 g/mL) in 75.0 mL of
water (d= 0.998 g/mL)
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. What is the mass percent sodium chloride in a solution obtained by mixing
325 g of an aqueous solution that 4.55% sodium chloride by mass with
175 g of an aqueous solution that is 15.5% sodium chloride by mass?
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6. Balance the following equations:
a. CaHz +7H:0 > Ca(OH), + ZH,

b. 7SbCls +3H2S >  SbpS; + L HC
¢.2Zns +30; > 2Zn0 + 250,
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7. Write molecular, complete ionic and net ionic equations when the
following react.
a. aqueous lead (IT) nitrate reacts with aqueous potassium bromide
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b. aqueous nickel (IT) chloride reacts with aqueous sodium phosphate
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8. The reagent shelf in a general chemistry lab contains aqueous solutions of
the following substances; silver nitrate, sodium chloride, potassium
chromate, barium nitrate, sodium sulfate, hydrochloric acid, lead nitrate,
sodium hydroxide, and sodium carbonate. Suggest how you might prepare
the following pure substances using these reagents. If it is not possible
to prepare on of the following, indicate why.

a, BaCrO4
b. AgCl
C. Pb$O4
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